October 23, 2024

Statistics
Lecture 32

Feb 19-8:47 AM

WOfK(nJ Continuous  vandom Varinb\e
Unidorm Prob. Mgt v o db,

G.m,‘;h is  vectanguby with ol owey=1,

A .
RAR
o ¢ A b e
) P( 2=c)=0 2) Pz is the
Qowes?owc\\‘ﬂf) S\‘W\QU\

QAo

PeCx<d):@-) 7=

.- -

Oct 23-8:49 AM



October 23, 2024

Co“s,\‘c\er (1N Uﬂ.\'gorm Pyrob., A(s’r. Fov ol Velues

Srom 2 2 r(9)-0)

2) P(6 Cx<35)
-(85-6) 15

(tne (Zewo Avfer«)

- 2.5 -4, 1.2

Oct 23-8:55 AM

(onstder O M Jor all Veldues

Redcw\ad\w
\grow\ 7‘? 1o 4 % R GWOLPh
* © pp(x=10) [0

D p(x< 1)
: - )
5 (0 2.5 “5 {‘2'5_5)'70

:\L O ‘\—’
3) Jind  x= fag >4
5 N\a Lo L2
qo./ (0/‘ ~+0 )
below Sbatt
Lef Avea Right Avea
S 1 .
\ q xX-5=36 i
(x-5) 5= - .
x -5 = 10 (\q) S X= qu A5

Oct 23-9:01 AM



Grotder & Uniform  Prob. Aist. Sor ol Velues
e e S
\Yrom 0 o 30. RecYangular

ol & 2% a9
P(x  oR 2>29-1 — F(ﬂ<x<zg>

TL\ 4 —(25)- ‘go

Prob. :i_a.\_:l
30 30

Siad Yo x-Nolugs that \
Sq:waew the miMle R0/, ¥

$rom the vest. st
1—.%:»?_} 2= A 3

21
(xy—0)- 3‘_0 b xm90() (23
(30-%,)- A4 30%:30()

= 30 -%2:=3

Oct 23-9:12 AM

Slondowrd Normal  Peob, Aish.
D) ose  Z , P(2=9:=0
Dok sk, 05 Symwmeheic, bell-Shape
wWith  total Qvea A
3) Mean = Mo&e :Mec\\‘uvt
4) M=0 , @ -1
5 [P( < Z<h)
Corms‘:o(\c)&ﬂ rea‘m in the bd\'SWAft
Vo, > =
\ %
Mow to Stnd this owea? '\‘Z
]
L)U; MA,0) =4

o the aven of the

Oct 23-9:22 AM

October 23, 2024



October 23, 2024

Sad P14 2Z<2)
= ﬂormm\cc\g(ll a) O, 1)

#0112
0=4
Sind P 2<Y)
/
= nogmal<§(=1, 1, 0, 1) ?
T './ :
) f%////z

ey A

Oct 23-9:29 AM

Sino\ P( 2> —1,6‘\5)

- normal AS(SL.64s, FV\
o~ 2

et 6
£

950

Oct 23-9:36 AM



October 23, 2024

$d  P(Z < 1.960)

mm\&(ﬁs | %0,0, 1)/\

- 1860

J15

—E°l°l Ui

A Lebt Aven oL RishbAve

Fnd 7=
5 | 1252
qo?,/be\m\é‘w/. W}S i
O\

Z= indNom( 0,1 Q!
Lol o
Aven M0 @_:?L =R

Oct 23-9:39 AM

COV\S{AQ( o %eowxe‘\m‘c Prob. Ak wWith P:ﬂ

) P(S\rs'\' dUCCRSS \\o\ﬂws L od‘-kmpﬂ
P(X= -5)- E’seomtiﬂw\g(3 5>

_9Q E-9 :K?X(Ogi

9) P Siest Success happens Wﬂ\fb

PX<A) = PLx < 3) -geomered(Y, 3): [

Oct 23-9:47 AM



October 23, 2024

Co“s(c\e{ n Potssom  Pvob Aisy. Wiy he

TORAN oy I on a g\‘xec)\ iAVerual,

P(x o8 Soccesses is ok 20)
(K 420)-1 — P(x=20)
-4 — Patsson PAY( 18, 20)
= | .920

Oct 23-9:53 AM



